Available online at http://scik.org
J. Math. Comput. Sci. 11 (2021), No. 1, 809-818
https://doi.org/10.28919/jmcs/5260
ISSN: 1927-5307

# SUM OF POWERS OF NATURAL NUMBERS VIA BINOMIAL COEFFICIENTS 

RAMI ALAHMAD ${ }^{1,2, *}$<br>${ }^{1}$ Department of Mathematics, Yarmouk University, Irbid 21163, Jordan<br>${ }^{2}$ Faculty of Engineering, Higher colleges of technology, Ras AlKhaimah, UAE

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits
unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.


#### Abstract

In this paper, many properties of several sequences such as Binomial coefficients, the falling numbers, and Stirling numbers of the second kind are discussed. We use these properties to find recurrence equations for the sums of powers $\sigma_{m}(n)=\sum_{k=1}^{n} k^{m}$ interm of Binomial coefficients and Stirling numbers.


Keywords: Stirling numbers; sum of powers; difference operators; sum of powers of positive integers.
2010 AMS Subject Classification: 11B73, 39A70.

## 1. Introduction

Define the sum of the $m$-th power of the first $n$ positive integers as

$$
\sigma_{m}(n)=\sum_{k=1}^{n} k^{m} .
$$

For example, one can easily, using mathematical induction, prove that $\sigma_{1}(n)=\frac{n(n+1)}{2}, \sigma_{2}(n)=$ $\frac{n(n+1)(2 n+1)}{6}, \sigma_{3}(n)=\left[\frac{n(n+1)}{2}\right]^{2}$, and $\sigma_{4}(n)=\frac{n(n+1)(2 n+1)\left(3 n^{2}+3 n-1\right)}{30}$. Also, it can be proved that if $a=\sigma_{1}(n)=\frac{n(n+1)}{2}$, then $\sigma_{3}(n)=a^{2}, \sigma_{5}(n)=\frac{4 a^{3}-a^{2}}{3}, \sigma_{7}(n)=\frac{6 a^{4}-4 a^{3}+a^{2}}{3}$. Some authors call the polynomials in $a$ on the right-hand sides of these identities Faulhaber polynomials, see [6].

[^0]Faulhaber also knew that if a sum for an odd power is given by

$$
\sum_{k=1}^{n} k^{2 m+1}=c_{1} a^{2}+c_{2} a^{3}+\cdots+c_{m} a^{m+1}
$$

then the sum for the even power just below is given by

$$
\sum_{k=1}^{n} k^{2 m}=\frac{n+1 / 2}{2 m+1}\left(2 c_{1} a+3 c_{2} a^{2}+\cdots+(m+1) c_{m} a^{m}\right) .
$$

For further properties of $\left\{\sigma_{m}(n)\right\}_{m=0}^{\infty}$, see [5] and [8].
In this paper, we are interested in constructing recurrence equations for $\sigma_{m}(n)$, this will allow us, for example, to find $\sigma_{m+1}(n)$ using $\sigma_{m}(n)$. Also, we will be able to find $\sigma_{m+2}(n)$ using $\sigma_{m+1}(n)$ and $\sigma_{m}(n)$. We will give definitions and needed results in subsections 2.1, 2.2, and 2.3. In section 3, we construct and prove recurrence equations for $\sigma_{m}(n)$.

## 2. Preliminaries

2.1. Binomial coefficients and falling numbers. Let $\mathbb{N}_{0}$ be the set of nonnegative integers. For $n \in \mathbb{N}_{0}$, the falling factorial numbers $(x)_{n}$, introduced by Leo August Pochhammer, are given as

$$
\begin{equation*}
(x)_{n}=x(x-1)(x-2) \cdots(x-n+1)=\frac{\Gamma(x+1)}{\Gamma(x+1-n)} \tag{1}
\end{equation*}
$$

where $(x)_{0}=1$. It is clear that $(x)_{n}=\frac{\Gamma(x+1)}{\Gamma(x+1-n)}$. In particular, for $m, n \in \mathbb{N}_{0}$

$$
\begin{equation*}
(m)_{n}=\frac{m!}{(m-n)!} \text { where } m \geq n \tag{2}
\end{equation*}
$$

The binomial coefficient, denoted by $\binom{n}{k}$ is the coefficient of the $x^{k}$-term in the polynomial expansion of $(1+x)^{n}$. It can be found by the formula

$$
\binom{n}{k}=\frac{n!}{k!(n-k)!} .
$$

Clearly, using (2), for the binomial coefficients and falling numbers are related as

$$
\begin{equation*}
\binom{n}{k}=\frac{(n)_{k}}{k!} . \tag{3}
\end{equation*}
$$

### 2.2. The forward difference operator.

Definition 2.1. Let $\mathscr{S}(\mathbb{N})$ be the set of complex valued sequences over $\mathbb{N}$. For $u \in \mathscr{S}(\mathbb{N})$, the forward difference operators $\Delta: \mathscr{S}(\mathbb{N}) \longrightarrow \mathscr{S}(\mathbb{N}): u \mapsto \Delta u$ is defined as:

$$
(\Delta u)(k)=u(k+1)-u(k) .
$$

Example 2.2. if $u(k)=(k)_{n}$, then

$$
\begin{aligned}
(\Delta u)(k) & =u(k+1)-u(k) \\
& =(k+1)_{n}-(k)_{n} \\
& =\frac{\Gamma(k+2)}{\Gamma(k+2-n)}-\frac{\Gamma(k+1)}{\Gamma(k+1-n)} \\
& =\frac{\Gamma(k+1)}{\Gamma(k+1-n)}\left(\frac{k+1}{k+1-n}-1\right) \\
& =n \frac{\Gamma(k+1)}{\Gamma(k+1-n)} \frac{1}{k+1-n} \\
& =n \frac{\Gamma(k+1)}{\Gamma(k+1-(n-1))} \\
& =n(k)_{n-1} .
\end{aligned}
$$

Therefore,

$$
\begin{equation*}
\Delta\left((k)_{n}\right)=n(k)_{n-1} \tag{4}
\end{equation*}
$$

Consequently,

$$
\begin{equation*}
\Delta\left(\binom{k}{n}\right)=\binom{k}{n-1} \tag{5}
\end{equation*}
$$

Taking the inverse difference operator for both sides of (4), we get $(k)_{n}=n \Delta^{-1}\left((k)_{n-1}\right)$. Consequently,

$$
\begin{equation*}
\Delta^{-1}\left((k)_{n}\right)=\frac{(k)_{n+1}}{n+1}+C . \tag{6}
\end{equation*}
$$

This also gives

$$
\begin{equation*}
\Delta^{-1}\left(\binom{k}{n}\right)=\binom{k}{n+1}+C \tag{7}
\end{equation*}
$$

Following the same arguments of Example 17, one can prove the following result which is needed later.

Proposition 2.3. For $s \in \mathbb{N}_{0}$, if $u(k)=(k+s)_{n}$, then
(1) $(\Delta u)(k)=n(k+s)_{n-1}$.
(2) $\left(\Delta^{-1} u\right)(k)=\frac{(k+s)_{n+1}}{n+1}+c$.

This proposition leads to the following result.

Proposition 2.4. If $u(k)=\binom{k+s}{n}$, then
(1) $(\Delta u)(k)=\binom{k+s}{n-1}$.
(2) $\left(\Delta^{-1} u\right)(k)=\binom{k+s}{n+1}+c$.

Also, it is easy to show that the forward difference operator satisfies the following proposition

$$
\begin{equation*}
\sum_{k=m}^{n-1}(\triangle f)(k)=f(n)-f(m) \tag{8}
\end{equation*}
$$

For example, using (7) and for $j \in \mathbb{N}$

$$
\begin{equation*}
\sum_{k=1}^{n}\binom{k}{j}=\binom{n+1}{j+1}-\binom{1}{j+1}=\binom{n+1}{j+1} \tag{9}
\end{equation*}
$$

Now, replacing $f$ in (8) by $\triangle^{-1} F$ we get that,

$$
\begin{equation*}
\sum_{k=1}^{n-1} F(k)=\left(\triangle^{-1} F\right)(n)-\left(\triangle^{-1} F\right)(1) \tag{10}
\end{equation*}
$$

This equations defines the inverse difference operator as

$$
\begin{equation*}
\left(\triangle^{-1} F\right)(n)=C+\sum_{k=1}^{n-1} F(k) \tag{11}
\end{equation*}
$$

For further properties for difference operators and their applications, see [9], [1], [2], [4] and [3].
2.3. Stirling numbers. For $n \in \mathbb{N}_{0}$, the sequence $\left\{\begin{array}{l}n \\ k\end{array}\right\}, k=0,1,2 \cdots n$, which satisfies

$$
x^{n}=\sum_{j=0}^{n}\left\{\begin{array}{l}
n  \tag{12}\\
j
\end{array}\right\}(x)_{j}
$$

is called the Stirling numbers of the second kind.

Example 2.5. For $k \in \mathbb{N}$ and using

$$
\begin{aligned}
x^{3} & =x+3 x(x-1)+x(x-1)(x-2) \\
& =(x)_{1}+3(x)_{2}+(x)_{3} \\
& =\left\{\begin{array}{l}
3 \\
0
\end{array}\right\}(x)_{0}+\left\{\begin{array}{l}
3 \\
1
\end{array}\right\}(x)_{1}+\left\{\begin{array}{l}
3 \\
2
\end{array}\right\}(x)_{2}+\left\{\begin{array}{l}
3 \\
3
\end{array}\right\}(x)_{3},
\end{aligned}
$$

we get that $\left\{\begin{array}{l}3 \\ 0\end{array}\right\}=0,\left\{\begin{array}{l}3 \\ 1\end{array}\right\}=1,\left\{\begin{array}{l}3 \\ 2\end{array}\right\}=3$ and $\left\{\begin{array}{l}3 \\ 3\end{array}\right\}=1$.
In [10], the following explicit formula is given to calculate these numbers

$$
\left\{\begin{array}{l}
n  \tag{13}\\
k
\end{array}\right\}=\frac{1}{k!} \sum_{i=0}^{k}(-1)^{i}\binom{k}{i}(k-i)^{n} .
$$

This equation implies that

$$
\left\{\begin{array}{l}
n  \tag{14}\\
0
\end{array}\right\}=\delta_{n, 0}= \begin{cases}1, & n=0 \\
0, & n>0\end{cases}
$$

Thus, for $m \in \mathbb{N}$ and using (14), we have

$$
k^{m}=\sum_{j=1}^{m}\left\{\begin{array}{c}
m  \tag{15}\\
j
\end{array}\right\}(k)_{j}=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k}{j} .
$$

Taking the sum for both sides of (15) from $k=1$ to $n$ and using Proposition 2.4 give

$$
\sigma_{m}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m  \tag{16}\\
j
\end{array}\right\} \frac{(n+1)_{j+1}}{j+1}=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{n+1}{j+1} .
$$

Example 2.6. Using Example 2.5, we get that

$$
\begin{aligned}
\sum_{k=1}^{n} k^{3} & =\sigma_{3}(n) \\
& =\sum_{j=1}^{n}\left\{\begin{array}{l}
3 \\
j
\end{array}\right\} j!\binom{n+1}{j+1} \\
& =1!\binom{n+1}{2}+3(2!)\binom{n+1}{3}+1(3!)\binom{n+1}{4} \\
& =\frac{(n+1) n}{2}\left(1+2(n-1)+\frac{(n-1)(n-2)}{2}\right) \\
& =\left(\frac{(n+1) n}{2}\right)^{2} .
\end{aligned}
$$

For further properties of the Stirling numbers, see [11].

## 3. Main Results

Proposition 3.1. For $m \in \mathbb{N}_{0}$, the falling numbers $(x)_{n}$ satisfies

$$
(x+m)_{m}(x)_{j}=(x+m)_{m+j} .
$$

Proof.

$$
\begin{aligned}
(x+m)_{m}(x)_{j} & =\frac{\Gamma(x+m+1)}{\Gamma(x+1)} \frac{\Gamma(x+1)}{\Gamma(x-j+1)} \\
& =\frac{\Gamma(x+m+1)}{\Gamma(x+m-(j+m)+1)}=(x+m)_{m+j} .
\end{aligned}
$$

For $k \in \mathbb{N}$,

$$
\frac{(k+m)_{m}}{m!} \frac{(k)_{j}}{j!}=\frac{(k+m)_{m+j}}{(m+j)!} \frac{(m+j)!}{m!j!} .
$$

Therefore,

$$
\begin{equation*}
\binom{k+m}{m}\binom{k}{j}=\binom{k+m}{m+j}\binom{m+j}{j}=\binom{k+m}{m+j}\binom{m+j}{m} . \tag{17}
\end{equation*}
$$

Now, we construct recurrence relations for $\sigma_{m}(n)$. This can be done after proving the following result.

Proposition 3.2. For $m, k \in \mathbb{N}$, the following are true
(1) $\left.k^{m+1}+k^{m}=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}\right)(j+1)!\binom{k+1}{j+1}$.
(2) $k^{m+2}+3 k^{m+1}+2 k^{m}=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}(j+2)!\binom{k+2}{j+2}$.
(3) $k^{m+3}+6 k^{m+2}+11 k^{m+1}+6 k^{m}=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}(j+3)!\binom{k+3}{j+3}$.

Proof. Multiply (12) by $\binom{k+1}{1}$ and use Proposition 3.1 to get

$$
\begin{aligned}
k^{m+1}+k^{m} & =(k+1) k^{m} \\
& =\binom{k+1}{1} k^{m} \\
& =\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k+1}{1}\binom{k}{j} \\
& =\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k+1}{j+1}\binom{j+1}{1}
\end{aligned}
$$

$$
=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+1)!\binom{k+1}{j+1}
$$

Now, use Proposition 3.1 to get

$$
\begin{aligned}
k^{m+2}+3 k^{m+1}+2 k^{m} & =(k+2)(k+1) k^{m} \\
& =2\binom{k+2}{2} k^{m} \\
& =2!\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k+2}{2}\binom{k}{j} \\
& =\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+2)!\binom{k+2}{j+2} .
\end{aligned}
$$

Again, use Proposition 3.1 to get

$$
\begin{aligned}
k^{m+3}+6 k^{m+2}+11 k^{m+1}+6 k^{m} & =(k+3)(k+2)(k+1) k^{m} \\
& =3!\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k+3}{3}\binom{k}{j} \\
& =3!\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\} j!\binom{k+3}{j+3}\binom{j+3}{3} \\
& =\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+3)!\binom{k+3}{j+3} .
\end{aligned}
$$

Taking the sum for the results in Proposition 3.2 from $k=1$ to $n$ and using (9) to get the following recurrence relations for $\sigma_{m}(n)$.

Theorem 3.3. For $m \in \mathbb{N}$

$$
\begin{aligned}
& \text { (1) } \sigma_{m+1}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+1)!\binom{n+2}{j+2}-\sigma_{m}(n) . \\
& \text { (2) } \sigma_{m+2}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+2)!\binom{n+3}{j+3}-3 \sigma_{m+1}(n)-2 \sigma_{m}(n) \\
& \text { (3) } \sigma_{m+3}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+3)!\binom{n+4}{j+4}-6 \sigma_{m+2}(n)-11 \sigma_{m+1}(n)-6 \sigma_{m}(n) .
\end{aligned}
$$

Proof. Taking the sum for each of the statements in Proposition 3.2 from $k=1$ to $n$ and using Proposition 2.4, we will get the result. For example, taking the sum for the statement

$$
k^{m+1}+k^{m}=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}(j+1)!\binom{k+1}{j+1}
$$

gives that

$$
\sigma_{m+1}(n)+\sigma_{m}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m  \tag{18}\\
j
\end{array}\right\}(j+1)!\left(\sum_{k=1}^{n}\binom{k+1}{j+1}\right) .
$$

Now, using (9), Equation (18) becomes $\left.\sigma_{m+1}(n)+\sigma_{m}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}(j+1)!\binom{n+2}{j+2}\right)$. Same steps prove the second and the third parts.

Theorem 3.3 implies that $\sigma_{m+1}(n), \sigma_{m+2}(n), \sigma_{m+3}(n)$, and $\sigma_{m+4}(n)$ are given explicitly as
Corollary 3.4.

$$
\text { (1) } \sigma_{m+1}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}\left((j+1)!\binom{n+2}{j+2}-j!\binom{n+1}{j+1}\right) \text {. }
$$

(2) $\sigma_{m+2}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}\left((j+2)!\binom{n+3}{j+3}-3(j+1)!\binom{n+2}{j+2}+j!\binom{n+1}{j+1}\right)$.
(3) $\sigma_{m+3}(n)=\sum_{j=1}^{m}\left\{\begin{array}{c}m \\ j\end{array}\right\}\left((j+3)!\binom{n+4}{j+4}-6(j+2)!\binom{n+3}{j+3}+7(j+1)!\binom{n+2}{j+2}-j!\binom{n+1}{j+1}\right)$.

Example 3.5. Using $\left\{\begin{array}{l}2 \\ j\end{array}\right\}=1$ for $j=1,2$, we get

$$
\begin{aligned}
\sum_{k=1}^{n} k^{5}=\sigma_{5}(n) & =\sum_{j=1}^{2}\left\{\begin{array}{l}
2 \\
j
\end{array}\right\}(j+3)!\binom{n+4}{j+4}-6 \sigma_{4}(n)-11 \sigma_{3}(n)-6 \sigma_{2}(n) \\
& =4!\binom{n+4}{5}+5!\binom{n+4}{6} \\
& -\frac{6}{30} n(n+1)(2 n+1)\left(3 n^{2}+3 n-1\right)-11\left(\frac{n(n+1)}{2}\right)^{2}-6 \frac{n(n+1)(2 n+1)}{6} \\
& =\frac{(n+4)(n+3)(n+2)(n+1) n}{5}+\frac{(n+4)(n+3)(n+2)(n+1) n(n-1)}{6} \\
& -\frac{6}{30} n(n+1)(2 n+1)\left(3 n^{2}+3 n-1\right)-11\left(\frac{n(n+1)}{2}\right)^{2}-6 \frac{n(n+1)(2 n+1)}{6} \\
& =\frac{1}{12} n^{2}(n+1)^{2}\left(2 n^{2}+2 n-1\right) .
\end{aligned}
$$

Now, one can construct other recurrence relations using Corollary 3.4. To achieve that, the following result is needed:

## Proposition 3.6.

$$
\begin{equation*}
\sum_{n=1}^{N} \sigma_{m}(n)=(N+1) \sigma_{m}(N)-\sigma_{m+1}(N) \tag{19}
\end{equation*}
$$

Proof. interchanging the sums gives

$$
\begin{aligned}
\sum_{n=1}^{N} \sigma_{m}(n) & =\sum_{n=1}^{N} \sum_{k=1}^{n} k^{m}=\sum_{k=1}^{N} \sum_{n=k}^{N} k^{m}=\sum_{k=1}^{N}(N-k+1) k^{m} \\
& =(N+1) \sigma_{m}(N)-\sigma_{m+1}(N)
\end{aligned}
$$

By taking the sum from $n=1$ to $N$ and using (19) and (8), new recurrence relations for $\sigma_{m}(n)$ are generated. For example, applying these steps to part(3) of Corollary 3.4gives that:

$$
\begin{aligned}
(N+1) \sigma_{m+3}(N)-\sigma_{m+4}(N) & =\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}\left((j+3)!\binom{N+5}{j+5}-6(j+2)!\binom{N+4}{j+4}\right. \\
& \left.+7(j+1)!\binom{N+3}{j+3}-j!\binom{N+2}{j+2}\right) .
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
\sigma_{m+4}(N) & =(N+1) \sigma_{m+3}(N)-\sum_{j=1}^{m}\left\{\begin{array}{c}
m \\
j
\end{array}\right\}\left((j+3)!\binom{N+5}{j+5}-6(j+2)!\binom{N+4}{j+4}\right. \\
& \left.+7(j+1)!\binom{N+3}{j+3}-j!\binom{N+2}{j+2}\right) .
\end{aligned}
$$

Example 3.7. Using Example 3.5,

$$
\begin{aligned}
\sigma_{6}(N) & =(N+1) \sigma_{5}(N)-\sum_{j=1}^{2}\left\{\begin{array}{l}
2 \\
j
\end{array}\right\}\left((j+3)!\binom{N+5}{j+5}-6(j+2)!\binom{N+4}{j+4}\right. \\
& \left.+7(j+1)!\binom{N+3}{j+3}-j!\binom{N+2}{j+2}\right) \\
& =\frac{1}{12} N^{2}(N+1)^{2}\left(2 N^{2}+2 N-1\right)-\left\{\begin{array}{l}
2 \\
1
\end{array}\right\}\left(4!\binom{N+5}{6}-6(3!)\binom{N+4}{5}\right. \\
& \left.+7(2!)\binom{N+3}{4}-1!\binom{N+2}{3}\right)-\left\{\begin{array}{l}
2 \\
2
\end{array}\right\}\left(\begin{array}{c}
5!\binom{N+5}{7}-6(4!)\binom{N+4}{6} \\
\end{array}+7(3!)\binom{N+3}{5}-2!\binom{N+2}{4}\right) . \\
& =\frac{1}{12} N^{2}(N+1)^{2}\left(2 N^{2}+2 N-1\right)-\left(4!\binom{N+5}{6}-6(3!)\binom{N+4}{5}\right. \\
& \left.+7(2!)\binom{N+3}{4}-1!\binom{N+2}{3}\right)-\binom{N+5}{7}-6(4!)\binom{N+4}{6} \\
& \left.+7(3!)\binom{N+3}{5}-2!\binom{N+2}{4}\right) . \\
& =\frac{1}{42} N(1+N)(1+2 N)\left(1-3 N+6 N^{3}+3 N^{4}\right) .
\end{aligned}
$$

## CONFLICT OF Interests

The author(s) declare that there is no conflict of interests.

## REFERENCES

[1] R. AlAhmad, R. Weikard, On Inverse Problems For Left Definite Discrete Sturm-Liouville Equations. Oper. Matrices. 7(1) (2013), 35-70.
[2] R. AlAhmad, A Hilbert space on left-definite Sturm-Liouville difference equation. Int. J. Appl. Math. 27(2) (2013), 163-170.
[3] S. Al-Ahmad, M. Mamat, R. AlAhmad, I. Sulaiman, P. Ghazali, On New Properties of Differential Transform via Difference Equations, Int. J. Eng. Technol. 7(3.28) (2018), 321-324.
[4] S. Al-Ahmad, M. Mamat, R. AlAhmad, Finding Differential Transform Using Difference Equations, IAENG Int. J. Appl. Math. 50(1) (2020), 127-132.
[5] C. Boyer, Pascal's Formula for the Sums of Powers of the Integers. Scripta Math. 9 (1943), 237-244.
[6] D. Knuth, Johann Faulhaber and sums of powers. Math. Comput. 61(203) (1993), 277-294.
[7] D.E. Knuth, Two Notes on Notation Amer. Math. Mon. 99 (1992), 403-422.
[8] R.A. Brualdi, Introductory Combinatorics, 4th edn. Elsevier, New York, 1997.
[9] A.J. Jerri, Difference Equations with Discrete Transforms Methods and Applications, Kluwer Academic Publishers, Boston, 1996.
[10] S. Roman, The umbral calculus, Dover Publications, Mineola, N.Y, 2005.
[11] I. Marx, Transformation of Series by a Variant of Stirling's Numbers, Amer. Math. Mon. 69(6), (1962), 530-532.
[12] J. Harris, J.L. Hirst, M. Mossinghoff, Combinatorics and Graph Theory, Springer, New York, 2008.


[^0]:    *Corresponding author
    E-mail address: rami_thenat@yu.edu.jo
    Received November 22, 2020

